Example-1

A 75 g piece of Ag-metal is heated to 80°C and dropped into 50 g of watey at 23.2°C. The final
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temperature of the Ag-H,O mixture is 27 6°C. What is the specific heat of silver?
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(specific heat of water 4.18 J/g°C)
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# Example-2

Given the following mformatlon

1
2 X Nz(q) + = Ha(q) = NH;(g) l_\ﬁl
%
Lx  NHs(9) ﬂ:;oz_(g) ~NOGQ) +5H:00)  BHC,
- 3 & Hy(g) + 502(9) - H,zo(l) =AH?,

Determine the AH? for the following reaction, expressed in terms of
AH?y, AH? > and AH5.

. Ny(g) + 0,(g) = 2NO(g) AH®
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AW = 2DM, + 2D%,— 3R



Example-3

A bomb calorimetry experiment is performed with xylose, C:H,,O:(s), as the
combustible substance. The data obtained are

Mass of xylose burned: . 25 Cswm \,\43‘\1\:\0

Heat capacity of calorimeter: 4728 kJ/I°C
Initial calorimeter temperature: / 23.39°C -€ X —~—D
Final calorimeter temperature: 7.19°C

What is the heat of combustion of xylose, in kilojoules per mole?
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Example-4

A 3.57 g sample of a KCI-KCIO; mixture is decomposed by heating and produces 119
mbL O, (g) measured at 22.4°C and 738 mmHg. What is the mass percent of KCIO; in

the mixture? (KCIO;: 122.6 g/mol)
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Example 5

+ How many joulesQ WO IS dong=
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0.225 mol of N2 qas at 23°C is
a2
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